o SOl AT A = (2, 4, 6, 8) ¥ Z2 Hts BF L8 A7

@ {2n|0<n<597F
© (x| x= 29 vl
© (2x-2|x=1<x<58 A5

@ (x| xE 89 ¥ oF)

jz.

OO0 @060 00u.e O®oe.e 06 0a6.6



(%]
@ {x1 <x<291 A}

}

® {xx<29 %



3. A=1{1, 2 3,4, 5)°A 1, 27} Z3FEo] gl

El AA
1

rr

==}
;\(_]'—I—TL“;S

k

of A%

D 470 ® 570 3 670 @ 770 3 870



A = la,b,c,d,e) oA

gl e

@D 47}

@ 770

a

il

Iz

® 87f

o

b

@ 97}

rr
H
o
ol

de =
G 1678

S

)



5. ZAAFF U =1(1,2,3,4,5,6,7,8) 2 T FEHT A = {1, 2, 3, 4},
B=1{1, 3, 5, 7}l thato] A° n B 5 F517?

D{1,3 @24 @35 @48 OGI6 8



6.

a>0,b>02 M, o=

@D 16 @ 17

Al
=1

(a+3)(

3 18

9
b+ =
a

) ol Axgre ot

@ 19 3 20



= bl =

® |a|

H
MTW

el

B

;
Yo

B
*
b
o

v
o
=

Y
Yo



8. q>p>1% 4% p, goll st pg + p 2} p? + ¢ HAE BWS)

H?
O pg+p<p’+gq @ pg+p<p’+gq
® pg+p>p°+gq @ pg+p=p’+gq

® pg+p=p*+g



9. x>3°e1‘fﬂ%3+2+3x94 &2

@D 3 @ 5 ® 12 @ 15 ® 17



a, b, x y7F g0l a®> 4+ b* = 8x* +y? = 24 W ax + by 9

10.

@ -4 3 0 @ 4 3 16

D =16



11. A" x = {-1,0,1,2}0 thstd <= F 1 X - XE f(x) = |«
Staf, o] gt o] x| o] REZITO] T

@ 270 @ 470 ® 670 @ s ® 1674



12, ®% /X - ] 287k o3t oku e of FoIA @47t
S
@yl\ @y“
Y':-rv_ﬁ Y\‘?F\?Z':
o ~X--Z O “X-¢
©y4 @y4
W~ N
o ~X-Z O "X-¢
© (1) (5) @ (v)(2) ® (=)



13.

A A = (1,2 3,4, 5} oA A B =
WS £ F (1) =ar, f(2)=az 9 B 1 0 AT
® 874 25 7} ® 6474
@ 8170



o, f(3) ¢l #k& F-5Hd?

@ 4 B 5



e o,

HA=1(6,a1,b3,B=18 ¢ 1,d 57t A=

(a+b)-(c+d) 2

@ 2 3 3 @ 4 ® 5

@D 1






17. BA ‘a<x<bol¥
b 9 HYizglo] gten

DO -2 ® -1

/\ |

1



ol 2e=s}E 4 g

@ {(0.1).(1.1).(2.1)}
@ {(0.1).(0,2).(2.0)}

A

£9



19. RE 5 mon o giste] §4 f(x) & @4 fmn) = f(m) + f(n)
RFE3
f2)=af3)=b<2d  £(24) & a,b S WA YERHA?

@ a+2b @ 2a+b ® 2a+3b

@ 3a+b ® 3a4+ 2



20. APA = (Lab)§ BEIA02 e % B flx) =3 —x. 5() =
1o Hiete] f =g W, a+ b2 FL27
©) @ 2 ®

Wl



